

Harmonic starlike functions with respect to symmetric points

¹Adnan G. Al Amoush and ²Maslina Darus

^{1,2}School of Mathematical Sciences, Faculty of Science and Technology
Universiti Kebangsaan Malaysia, 43600 UKM Bangi Selangor DE
e-mail: ¹adnan_omoush@yahoo.com, ²maslina@ukm.edu.my (corresponding author)

Abstract Here a new class of complex-valued harmonic functions with respect to symmetric points is introduced. Coefficient bounds, distortion and various properties are obtained.

Keywords Harmonic univalent; starlike functions; Hadamard product; symmetric points.

2010 Mathematics Subject Classification 02.03.Fn; 02.03.Gp; 02.03.Px.

1 Introduction

A continuous complex-valued function $f = u + iv$ defined in a simply complex domain D is said to be harmonic in D . We call h the analytic part and g the co-analytic part of f if both u and v are real harmonic in D . In any simply connected domain, we can write $f = h + \bar{g}$ where h and g are analytic in D . A necessary and sufficient condition for f to be locally univalent and sense preserving in D is that $|h'(z)| > |g'(z)|$, $z \in D$ (see Clunie [1]).

Denote by S_H the class of functions $f = h + \bar{g}$ that are harmonic univalent and sense preserving in the unit disc $U = \{z : |z| < 1\}$ for which $f(0) = f_z(0) - 1 = 0$. Then for $f = h + \bar{g} \in S_H$ we may express the analytic functions h and g as

$$h(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad g(z) = \sum_{n=1}^{\infty} b_n z^n, \quad |b_1| < 1. \quad (1.1)$$

Observe that S_H reduces to S , the class of normalized univalent analytic functions, if the co-analytic part of f is zero.

Hence

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n + \sum_{n=1}^{\infty} \overline{b_n z^n}, \quad |b_1| < 1. \quad (1.2)$$

We denote \overline{H} the subclass of H consists of harmonic functions $f = h + \bar{g}$ of the form

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n + \sum_{n=1}^{\infty} \overline{b_n z^n}, \quad |b_1| < 1. \quad (1.3)$$

A function $f = h + \bar{g}$ with h and g given by (1.1) is said to beharmonic starlike of order χ ($0 \leq \chi < 1$) for $|z| = r < 1$, if

$$\frac{\partial}{\partial \theta} (\arg f(re^{i\theta})) = \operatorname{Im} \left\{ \frac{\frac{\partial}{\partial \theta} \arg f(re^{i\theta})}{\arg f(re^{i\theta})} \right\} = \operatorname{Re} \left\{ \frac{zh'(z) - \overline{zg'(z)}}{h(z) + \overline{g(z)}} \right\} \geq \chi. \quad (1.4)$$

The class of all harmonic starlike functions of order χ is denoted by $S_H^*(\chi)$ and extensively studied by Jahangiri [2]. The cases $\chi = 0$ and $b_1 = 1$ were studied by Silverman and Silvia [3] and Silverman [4]. Other related works of the class H also appeared in [5, 6].

Lastly, let S_S^* denote the class of starlike functions with respect to symmetric points. This class was introduced by Sakaguchi [7] where f satisfying

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z) - f(-z)} \right\} > 0, \quad z \in U. \quad (1.5)$$

Then, Ahuja and Jahangiri [8] studied the class of harmonic starlike functions of order χ ($0 \leq \chi < 1$) with respect to symmetric points, $S_{HS}^*(\chi)$ and satisfying the condition

$$\operatorname{Im} \left\{ \frac{2 \frac{\partial}{\partial \theta} f(re^{i\theta})}{f(re^{i\theta}) - f(-re^{i\theta})} \right\} = \operatorname{Re} \left\{ \frac{2 \left[zh'(z) - \overline{zg'(z)} \right]}{h(z) + \overline{g(z)}} \right\} \geq \chi. \quad (1.6)$$

Let the Hadamard product (or convolution) of two power series

$$\Phi(z) = z + \sum_{n=2}^{\infty} \phi_n z^n$$

and

$$\varphi(z) = z + \sum_{n=2}^{\infty} \psi_n z^n$$

be defined by

$$(\Phi * \varphi)(z) = (\varphi * \Phi)(z) = z + \sum_{n=2}^{\infty} \phi_n \psi_n z^n.$$

Recently, Al Alamoush and Darus [9] derived a new operator as

$$D_{\alpha, \beta, \delta, \lambda}^k f(z) = z + \sum_{n=2}^{\infty} [\lambda(\alpha + \beta - 1)(n - 1) + 1]^k C(\delta, n) a_n z^n \quad (1.7)$$

where

$$0 < \alpha \leq 1, 0 < \beta \leq 1, \lambda \geq 0, \delta, k \in N_0, z \in U, C(\delta, n) = \binom{n + \delta - 1}{\delta} = \frac{\Gamma(n + \delta)}{\Gamma(n)\Gamma(n + 1)}$$

and $D_{\delta}^k f(z)$ is the Hadamard product (or convolution) between Salagean operator and Ruscheweyh operator (see Salagean [10], Ruscheweyh [11]).

The operator $D_{\alpha, \beta, \delta, \lambda}^k f(z)$ for harmonic functions $f = h + \overline{g}$ given by (1.1) is defined as

$$D_{\alpha, \beta, \delta, \lambda}^k f(z) = D_{\alpha, \beta, \delta, \lambda}^k h(z) + \overline{D_{\alpha, \beta, \delta, \lambda}^k g(z)},$$

where

$$D_{\alpha, \beta, \delta, \lambda}^k h(z) = z + \sum_{n=2}^{\infty} \Gamma_{\alpha, \beta, \delta, \lambda}^k a_n z^n,$$

and

$$D_{\alpha,\beta,\delta,\lambda}^k g(z) = \sum_{n=1}^{\infty} \Gamma_{\alpha,\beta,\delta,\lambda}^k b_n z^n,$$

where

$$\Gamma_{\alpha,\beta,\delta,\lambda}^k = [\lambda(\alpha + \beta - 1)(n - 1) + 1]^k C(\delta, n). \tag{1.8}$$

Now, by using the operator $D_{\alpha,\beta,\delta,\lambda}^k$ and for $\chi(0 \leq \chi < 1)$, $S_{HS}^*(\alpha, \beta, \delta, \lambda; \chi)$ denote the class of harmonic univalent functions starlike of order with respect to symmetric points. The function $f \in S_{HS}^*(\alpha, \beta, \delta, \lambda; \chi)$ is satisfying

$$\begin{aligned} & \operatorname{Re} \left\{ \frac{2z \left(D_{\alpha,\beta,\delta,\lambda}^k f(z) \right)'}{D_{\alpha,\beta,\delta,\lambda}^k f(z) - D_{\alpha,\beta,\delta,\lambda}^k f(-z)} \right\} \\ &= \operatorname{Re} \left\{ \frac{2 \left[z \left(D_{\alpha,\beta,\delta,\lambda}^k h(z) \right)' - \overline{\left(D_{\alpha,\beta,\delta,\lambda}^k g(z) \right)'} \right]}{\left[D_{\alpha,\beta,\delta,\lambda}^k h(z) - D_{\alpha,\beta,\delta,\lambda}^k h(-z) \right] + \left[\overline{D_{\alpha,\beta,\delta,\lambda}^k g(z) - D_{\alpha,\beta,\delta,\lambda}^k g(-z)} \right]} \right\} \geq \chi \end{aligned} \tag{1.9}$$

where

$$\left(D_{\alpha,\beta,\delta,\lambda}^k f(z) \right)' = \frac{\partial}{\partial \theta} \left(D_{\alpha,\beta,\delta,\lambda}^k f(re^{i\theta}) \right).$$

In this paper, we have obtained the coefficient conditions for the classes $S_{HS}^*(\alpha, \beta, \delta, \lambda; \chi)$ and $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$. A representation theorem, inclusion properties and distortion bounds for the class $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ are also established.

2 Coefficient characterization

The sufficient coefficient bound for the harmonic functions in the subclass $S_{HS}^*(\alpha, \beta, \delta, \lambda; \chi)$ is deduced and presented.

Theorem 1 *Let a function $f = h + \bar{g}$ be given in (1.2) and $\Gamma_{\alpha,\beta,\delta,\lambda}^k \geq 1$. If*

$$\sum_{n=2}^{\infty} \left\{ \frac{2n - \chi(1 - (-1)^n)}{2(1 - \chi)} |a_n| + \frac{2n + \chi(1 - (-1)^n)}{2(1 - \chi)} |b_n| \right\} |\Gamma_{\alpha,\beta,\delta,\lambda}^k| \leq 1 - \frac{1 + \chi}{1 - \chi} |b_1| \tag{2.1}$$

where $|b_1| < \frac{1+\chi}{1-\chi}$, $\chi(0 \leq \chi < 1)$, $\Gamma_{\alpha,\beta,\delta,\lambda}^k$ be defined by (1.7) and $z \in U$, then f is sense-preserving harmonic univalent in U and $f \in S_{HS}^*(\alpha, \beta, \delta, \lambda; \chi)$.

Proof To verify that f is orientation preserving, we show $|h'(z)| \geq |g'(z)|$,

$$\begin{aligned} |h'(z)| &= \left| 1 + \sum_{n=2}^{\infty} n a_n z^{n-1} \right| \\ &\geq 1 - \sum_{n=2}^{\infty} n |a_n| |z|^{n-1} \\ &\geq 1 - \sum_{n=2}^{\infty} n |a_n|. \end{aligned}$$

By the hypothesis of the theorem, $|\Gamma_{\alpha,\beta,\delta,\lambda}^k| \geq 1$ and by (2.1) give

$$\begin{aligned} &\geq 1 - \sum_{n=2}^{\infty} \frac{2n-\chi(1-(-1)^n)}{2(1-\chi)} \Gamma_{\alpha,\beta,\delta,\lambda}^k |a_n| \\ &\geq \sum_{n=1}^{\infty} \frac{2n+\chi(1-(-1)^n)}{2(1-\chi)} \Gamma_{\alpha,\beta,\delta,\lambda}^k |b_n| \\ &\geq \sum_{n=1}^{\infty} n |b_n| \\ &\geq \sum_{n=1}^{\infty} n |b_n| |z|^{n-1} \\ &= |g'(z)|. \end{aligned}$$

Thus, f is orientation preserving in U .

Next, we prove $f \in S_{HS}^*(\alpha, \beta, \delta, \lambda; \chi)$. It suffices to show that the condition (1.8) is satisfied. Then, let

$$w = \frac{2 \left[z \left(D_{\alpha,\beta,\delta,\lambda}^k h(z) \right)' - \overline{z \left(D_{\alpha,\beta,\delta,\lambda}^k g(z) \right)'} \right]}{\left[D_{\alpha,\beta,\delta,\lambda}^k h(z) - D_{\alpha,\beta,\delta,\lambda}^k h(-z) \right] + \left[D_{\alpha,\beta,\delta,\lambda}^k g(z) - D_{\alpha,\beta,\delta,\lambda}^k g(-z) \right]} = \frac{A(z)}{B(z)}$$

where

$$\begin{aligned} A(z) &= 2 \left[z \left(D_{\alpha,\beta,\delta,\lambda}^k h(z) \right)' - \overline{z \left(D_{\alpha,\beta,\delta,\lambda}^k g(z) \right)'} \right] \\ &= 2 \left[z + \sum_{n=2}^{\infty} n \Gamma_{\alpha,\beta,\delta,\lambda}^k a_n z^n - \sum_{n=1}^{\infty} n \overline{\Gamma_{\alpha,\beta,\delta,\lambda}^k b_n z^n} \right], \end{aligned}$$

and

$$\begin{aligned} B(z) &= \left[D_{\alpha,\beta,\delta,\lambda}^k h(z) - D_{\alpha,\beta,\delta,\lambda}^k h(-z) \right] + \left[D_{\alpha,\beta,\delta,\lambda}^k g(z) - D_{\alpha,\beta,\delta,\lambda}^k g(-z) \right] \\ &= 2z + \sum_{n=2}^{\infty} [1 - (-1)^n] \Gamma_{\alpha,\beta,\delta,\lambda}^k a_n z^n + \sum_{n=1}^{\infty} [1 - (-1)^n] \overline{\Gamma_{\alpha,\beta,\delta,\lambda}^k b_n z^n}. \end{aligned}$$

Using the fact that $Re \{w(z)\} > \chi$ if and only if $|1 - \chi + w| \geq |1 + \chi - w|$, it suffices to show that

$$|A(z) + (1 - \chi)B(z)| - |A(z) - (1 + \chi)B(z)| \geq 0. \quad (2.2)$$

Substituting for $A(z)$ and $B(z)$ we get

$$\begin{aligned} &|[2 + 2(1 - \chi)]z + \sum_{n=2}^{\infty} [2n + (1 - \chi)(1 - (-1)^n)] \Gamma_{\alpha,\beta,\delta,\lambda}^k a_n z^n \\ &\quad - \sum_{n=1}^{\infty} [2n - (1 - \chi)[1 - (-1)^n] \Gamma_{\alpha,\beta,\delta,\lambda}^k \overline{b_n z^n}] \\ &\quad - |[2 - 2(1 + \chi)]z + \sum_{n=2}^{\infty} [2n - (1 + \chi)(1 - (-1)^n)] \Gamma_{\alpha,\beta,\delta,\lambda}^k a_n z^n \\ &\quad - \sum_{n=1}^{\infty} [2n + (1 + \chi)[1 - (-1)^n] \Gamma_{\alpha,\beta,\delta,\lambda}^k \overline{b_n z^n}] \\ &= |[2(2 - \chi)]z + \sum_{n=2}^{\infty} [2n + (1 - \chi)(1 - (-1)^n)] \Gamma_{\alpha,\beta,\delta,\lambda}^k a_n z^n \\ &\quad - \sum_{n=1}^{\infty} [2n - (1 - \chi)[1 - (-1)^n] \Gamma_{\alpha,\beta,\delta,\lambda}^k \overline{b_n z^n}] \end{aligned}$$

$$\begin{aligned}
 & -| -2\chi z + \sum_{n=2}^{\infty} [2n - (1 + \chi)(1 - (-1)^n)] \Gamma_{\alpha, \beta, \delta, \lambda}^k a_n z^n \\
 & - \sum_{n=1}^{\infty} [2n + (1 + \chi)[1 - (-1)^n] \Gamma_{\alpha, \beta, \delta, \lambda}^k \overline{b_n z^n}] \\
 \geq & 4(1 - \chi)|z| - \sum_{n=2}^{\infty} [4n - 2\chi(1 - (-1)^n)] \Gamma_{\alpha, \beta, \delta, \lambda}^k |a_n| |z|^n \\
 & - \sum_{n=1}^{\infty} [4n + 2\chi[1 - (-1)^n] \Gamma_{\alpha, \beta, \delta, \lambda}^k |b_n| |z|^n] \\
 = & 4(1 - \chi)|z| \left\{ 1 - \sum_{n=2}^{\infty} \left(\frac{2n - \chi(1 - (-1)^n)}{2(1 - \chi)} \right) \Gamma_{\alpha, \beta, \delta, \lambda}^k |a_n| |z|^{n-1} \right. \\
 & \left. - \sum_{n=1}^{\infty} \left[\left(\frac{2n + \chi(1 - (-1)^n)}{2(1 - \chi)} \right) \Gamma_{\alpha, \beta, \delta, \lambda}^k |b_n| |z|^{n-1} \right] \right\} \\
 \geq & 4(1 - \chi)|z| \left\{ 1 - \sum_{n=2}^{\infty} \left(\frac{2n - \chi(1 - (-1)^n)}{2(1 - \chi)} \right) \Gamma_{\alpha, \beta, \delta, \lambda}^k |a_n| \right. \\
 & \left. - \sum_{n=1}^{\infty} \left[\left(\frac{2n + \chi(1 - (-1)^n)}{2(1 - \chi)} \right) \Gamma_{\alpha, \beta, \delta, \lambda}^k |b_n| \right] \right\} \\
 = & 4(1 - \chi)|z| \\
 & \left\{ 1 - \frac{1 + \chi}{1 - \chi} |b_1| - \left\{ \sum_{n=2}^{\infty} \left[\left(\frac{2n - \chi(1 - (-1)^n)}{2(1 - \chi)} \right) |a_n| - \left(\frac{2n + \chi(1 - (-1)^n)}{2(1 - \chi)} \right) |b_n| \right] \Gamma_{\alpha, \beta, \delta, \lambda}^k \right\} \right\}
 \end{aligned}$$

This last expression is nonnegative by (2.1), and thus $f \in S_{HS}^*(\alpha, \beta, \delta, \lambda; \chi)$.

For

$$\sum_{n=2}^{\infty} |x_n| + \sum_{n=1}^{\infty} |y_n| = 1,$$

the harmonic univalent functions

$$\begin{aligned}
 f(z) = & z + \sum_{n=2}^{\infty} \left(\frac{2(1 - \chi)}{2n - \chi(1 - (-1)^n) \Gamma_{\alpha, \beta, \delta, \lambda}^k} \right) x_n z^n \\
 & + \sum_{n=1}^{\infty} \left(\frac{2(1 - \chi)}{2n + \chi(1 - (-1)^n) \Gamma_{\alpha, \beta, \delta, \lambda}^k} \right) \overline{y_n z^n},
 \end{aligned} \tag{2.3}$$

shows the equality in the coefficient bound given by (2.1) is sharp. □

The following result proves the hypothesis in Theorem 1 is a necessary and sufficient condition for f to be in the class $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$.

Theorem 2 *Let a function $f = h + g$ be given in (1.3). Then $f \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ if and only if*

$$\sum_{n=2}^{\infty} \left\{ \frac{2n - \chi(1 - (-1)^n)}{2(1 - \chi)} |a_n| + \frac{2n + \chi(1 - (-1)^n)}{2(1 - \chi)} |b_n| \right\} |\Gamma_{\alpha, \beta, \delta, \lambda}^k| \leq 1 - \frac{1 + \chi}{1 - \chi} |b_1| \tag{2.4}$$

where $|b_1| < \frac{1 + \chi}{1 - \chi}$, $\chi(0 \leq \chi < 1)$, $\Gamma_{\alpha, \beta, \delta, \lambda}^k$ be defined by (1.7) and $z \in U$.

Proof Since $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi) \subset S_{HS}^*(\alpha, \beta, \delta, \lambda; \chi)$, sufficiency part follows from Theorem 1. To prove the necessity part, assume that $f \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$. For functions f of the form

(1.3), the condition (1.8) is equivalent to

$$\begin{aligned} & \operatorname{Re} \left\{ \frac{2 \left[z \left(D_{\alpha, \beta, \delta, \lambda}^k h(z) \right)' - \overline{z \left(D_{\alpha, \beta, \delta, \lambda}^k g(z) \right)'} \right]}{\left[D_{\alpha, \beta, \delta, \lambda}^k h(z) - D_{\alpha, \beta, \delta, \lambda}^k h(-z) \right] + \left[D_{\alpha, \beta, \delta, \lambda}^k g(z) - D_{\alpha, \beta, \delta, \lambda}^k g(-z) \right]} - \chi \right\} \\ & = \operatorname{Re} \left\{ \frac{2z - \sum_{n=2}^{\infty} 2n \Gamma_{\alpha, \beta, \delta, \lambda}^k a_n z^n - \sum_{n=1}^{\infty} 2n \Gamma_{\alpha, \beta, \delta, \lambda}^k \overline{b_n z^n}}{2z - \sum_{n=2}^{\infty} (1 - (-1)^n) \Gamma_{\alpha, \beta, \delta, \lambda}^k a_n z^n + \sum_{n=1}^{\infty} (1 - (-1)^n) \Gamma_{\alpha, \beta, \delta, \lambda}^k \overline{b_n z^n}} - \chi \right\} \geq 0. \end{aligned}$$

The condition should hold for all values of z , $|z| = r < 1$. Choosing the values of z on the real positive axis, $0 \leq z = r < 1$, and $\Gamma_{\alpha, \beta, \delta, \lambda}^k$ is real, we have

$$= \operatorname{Re} \left\{ \frac{2(1 - \chi) - \sum_{n=2}^{\infty} [2n - \chi(1 - (-1)^n) \Gamma_{\alpha, \beta, \delta, \lambda}^k a_n r^{n-1} - \sum_{n=1}^{\infty} [2n + \chi(1 - (-1)^n) \Gamma_{\alpha, \beta, \delta, \lambda}^k b_n r^{n-1}]}{2 - \sum_{n=2}^{\infty} (1 - (-1)^n) \Gamma_{\alpha, \beta, \delta, \lambda}^k a_n r^{n-1} + \sum_{n=1}^{\infty} (1 - (-1)^n) \Gamma_{\alpha, \beta, \delta, \lambda}^k b_n r^{n-1}} \right\} \geq 0. \tag{2.5}$$

Letting $r \rightarrow 1^-$ and if the condition (2.4) does not hold, then the numerator in (2.5) is negative. Thus the coefficient bound inequality (2.5) holds true when $f \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$. This completes the proof of Theorem 2. \square

3 Distortion theorem and extreme points

In the theorem below we give distortion bounds for f in the class $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$.

Theorem 3 *Let the functions $f(z)$ defined by (1.3) be in the class $f \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$, then for $|z| = r < 1$, we have*

$$|f(z)| \leq (1 + |b_1|)r + \frac{1}{[\lambda(\alpha + \beta - 1) + 1]^k C(\delta, 2)} \left\{ \frac{1 - \chi}{2} - \frac{1 + \chi}{2} |b_1| \right\} r^2,$$

and

$$|f(z)| \geq (1 - |b_1|)r - \frac{1}{[\lambda(\alpha + \beta - 1) + 1]^k C(\delta, 2)} \left\{ \frac{1 - \chi}{2} - \frac{1 + \chi}{2} |b_1| \right\} r^2.$$

The result is sharp.

Proof We prove only the left hand inequality, let $f \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$. Taking the absolute value of $f(z)$, we have

$$\begin{aligned} |f(z)| & \geq (1 - |b_1|)r - \sum_{n=2}^{\infty} \{|a_n| + |b_n|\} r^n \geq (1 - |b_1|)r - r^2 \sum_{n=2}^{\infty} \{|a_n| + |b_n|\} \\ & = (1 - |b_1|)r - \frac{1 - \chi}{[\lambda(\alpha + \beta - 1) + 1]^k C(\delta, 2)} \sum_{n=2}^{\infty} \frac{[\lambda(\alpha + \beta - 1)(n - 1) + 1]^k C(\delta, n)}{1 - \chi} \{|a_n| + |b_n|\} r^2 \\ & \geq (1 - |b_1|)r - \frac{(1 - \chi)r^2}{[\lambda(\alpha + \beta - 1) + 1]^k C(\delta, 2)} \sum_{n=2}^{\infty} \left\{ \frac{[2n - \chi(1 - (-1)^n)]}{4(1 - \chi)} |a_n| \right. \\ & \qquad \qquad \qquad \left. + \frac{[2n + \chi(1 - (-1)^n)]}{4(1 - \chi)} |b_n| \right\} \Gamma_{\alpha, \beta, \delta, \lambda}^k \end{aligned}$$

$$\begin{aligned}
 &= (1 - |b_1|)r - \frac{(1-\chi)r^2}{2[\lambda(\alpha+\beta-1)+1]^k C(\delta,2)} \sum_{n=2}^{\infty} \left\{ \frac{[2n-\chi(1-(-1)^n)]}{2(1-\chi)} |a_n| \right. \\
 &\quad \left. + \frac{[2n+\chi(1-(-1)^n)]}{2(1-\chi)} |b_n| \right\} \Gamma_{\alpha,\beta,\delta,\lambda}^k \\
 &\geq (1 - |b_1|)r - \frac{(1-\chi)r^2}{2[\lambda(\alpha+\beta-1)+1]^k C(\delta,2)} \left(1 - \frac{1+\chi}{1-\chi} |b_1| \right) \\
 &= (1 - |b_1|)r - \frac{r^2}{[\lambda(\alpha+\beta-1)+1]^k C(\delta,2)} \left(\frac{1-\chi}{2} - \frac{1+\chi}{2} |b_1| \right).
 \end{aligned}$$

The proof of the right hand inequality follows on lines similar to that of the left hand inequality which completes the proof of Theorem 3. \square

Denote $clco\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ as the closed convex hull of $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$. The following result gives extreme points of $clco\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$.

Theorem 4 A function $f = h + \overline{g} \in clco\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ if and only if $f(z)$, can be expressed in the form

$$f_n(z) = \sum_{n=1}^{\infty} (X_n h_n(z) + Y_n g_n(z)) \quad (3.1)$$

where

$$\begin{aligned}
 h_1(z) &= z, \quad h_n(z) = z - \frac{2(1-\chi)}{[2n-\chi(1-(-1)^n)] |\Gamma_{\alpha,\beta,\delta,\lambda}^k|} z^n \quad (n = 2, 3, \dots), \\
 g_n(z) &= z + \frac{2(1-\chi)}{[2n+\chi(1-(-1)^n)] |\Gamma_{\alpha,\beta,\delta,\lambda}^k|} \overline{z}^n \quad (n = 1, 2, 3, \dots),
 \end{aligned}$$

$\Gamma_{\alpha,\beta,\delta,\lambda}^k$ is given by (1.7) and $\sum_{n=1}^{\infty} (X_n + Y_n) = 1$, with $X_n \geq 0$, $Y_n \geq 0$. In particular the extreme points of $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ are h_n and g_n .

Proof. Let f be of the form (3.1). Then we have

$$\begin{aligned}
 f_n(z) &= \sum_{n=1}^{\infty} (X_n + Y_n)z - \sum_{n=2}^{\infty} \frac{2(1-\chi)}{[2n-\chi(1-(-1)^n)] |\Gamma_{\alpha,\beta,\delta,\lambda}^k|} X_n z^n \\
 &\quad + \sum_{n=1}^{\infty} \frac{2(1-\chi)}{[2n+\chi(1-(-1)^n)] |\Gamma_{\alpha,\beta,\delta,\lambda}^k|} Y_n \overline{z}^n \\
 &= z - \sum_{n=2}^{\infty} \frac{2(1-\chi)}{[2n-\chi(1-(-1)^n)] |\Gamma_{\alpha,\beta,\delta,\lambda}^k|} X_n z^n \\
 &\quad + \sum_{n=1}^{\infty} \frac{2(1-\chi)}{[2n+\chi(1-(-1)^n)] |\Gamma_{\alpha,\beta,\delta,\lambda}^k|} Y_n \overline{z}^n.
 \end{aligned}$$

Furthermore, let

$$|a_n| = \frac{2(1-\chi)}{[2n-\chi(1-(-1)^n)] |\Gamma_{\alpha,\beta,\delta,\lambda}^k|} X_n z^n$$

and

$$|b_n| = \frac{2(1-\chi)}{[2n+\chi(1-(-1)^n)] |\Gamma_{\alpha,\beta,\delta,\lambda}^k|} Y_n \overline{z}^n.$$

Applying Theorem 2, gives

$$\begin{aligned} & \sum_{n=2}^{\infty} \frac{[2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} |a_n| + \sum_{n=1}^{\infty} \frac{[2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} |b_n| \\ &= \sum_{n=2}^{\infty} \frac{[2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} \frac{2(1 - \chi)}{[2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|} X_n \\ & \quad + \sum_{n=1}^{\infty} \frac{[2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} \frac{2(1 - \chi)}{[2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|} X_n \\ &= \sum_{n=2}^{\infty} X_n + \sum_{n=1}^{\infty} Y_n = 1 - X_1 \leq 1, \end{aligned}$$

and so $f_n \in \overline{clcoS_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$.

Conversely, suppose that $f_n \in \overline{clcoS_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$. Setting

$$\begin{aligned} X_n &= \frac{[2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k| |a_n|}{2(1 - \chi)} \quad (n = 2, 3, \dots), \\ Y_n &= \frac{[2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k| |a_n|}{2(1 - \chi)} \quad (n = 1, 2, 3, \dots) \end{aligned}$$

and define $X_1 = 1 - \sum_{n=2}^{\infty} X_n + \sum_{n=1}^{\infty} Y_n$.

Therefore,

$$\begin{aligned} f(z) &= z - \sum_{n=2}^{\infty} |a_n| z^n + \sum_{n=1}^{\infty} |b_n| \bar{z}^n \\ &= z - \sum_{n=2}^{\infty} \frac{2(1 - \chi) X_n}{[2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|} z^n + \sum_{n=1}^{\infty} \frac{2(1 - \chi) Y_n}{[2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|} \bar{z}^n \\ &= z - \sum_{n=2}^{\infty} [X_n (h_n(z) - z)] + \sum_{n=1}^{\infty} [Y_n (g_n(z) - z)] \\ &= \sum_{n=1}^{\infty} [X_n h_n(z) + Y_n g_n(z)]. \end{aligned}$$

as required. \square

4 Convolution and convex combination

For our next theorem, we need to define the convolution of two harmonic functions. For harmonic functions of the form

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n + \sum_{n=1}^{\infty} b_n \bar{z}^n, \quad |b_1| < 1, \quad (4.1)$$

and

$$G(z) = z - \sum_{n=2}^{\infty} A_n z^n + \sum_{n=1}^{\infty} B_n \bar{z}^n, \quad (A_n \geq 0, B_n \geq 0), \quad (4.2)$$

we define the convolution of two harmonic functions f and G as

$$(f * G)(z) = f(z) * G(z) = z - \sum_{n=2}^{\infty} a_n A_n z^n + \sum_{n=1}^{\infty} b_n B_n \bar{z}^n. \quad (4.3)$$

Using this definition, we show that the class $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ is closed under convolution.

Theorem 5 For $0 \leq \psi \leq \chi < 1$, let $f \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ and $G \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \psi)$. Then $f * G \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi) \subset \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \psi)$.

Proof. Let the function $f(z)$ defined by (4.1) be in the class $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ and let the function $G(z)$ defined by (4.2) be in the class $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \psi)$. Then the convolution $f * G$ is given by (4.3). We wish to show that the coefficients of $f * G$ satisfy the required condition given in Theorem 1.

For $G \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \psi)$ we note that $0 \leq A_n \leq 1$ and $0 \leq B_n \leq 1$. Now, for the convolution function $f * G$ we obtain

$$\begin{aligned} & \sum_{n=2}^{\infty} [2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k| |a_n| A_n + \sum_{n=1}^{\infty} [2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k| |b_n| B_n \\ & \leq \sum_{n=2}^{\infty} [2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k| |a_n| + \sum_{n=1}^{\infty} [2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k| |b_n| \\ & \leq 2(1 - \chi), \end{aligned}$$

since $0 \leq \psi \leq \chi < 1$ and $f \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$. Therefore $f * G \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi) \subset \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \psi)$, since the above inequality bounded by $2(1 - \chi)$ while $2(1 - \chi) \leq 2(1 - \psi)$. This completes the proof of Theorem 5. \square

Now, we show that the class $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ is closed under convex combinations of its members.

Theorem 6 The class $\overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$ is closed under convex combination.

Proof. For $i = 1, 2, \dots$, let $f_i \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi)$, where f_i is given by

$$f_i(z) = z - \sum_{n=2}^{\infty} |a_{n_i}| z^n + \sum_{n=1}^{\infty} |b_{n_i}| \bar{z}^n, \quad (a_{n_i} \geq 0; b_{n_i} \geq 0; z \in U).$$

Then by using Theorem 1, we have

$$\sum_{n=2}^{\infty} \frac{[2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} |a_{n_i}| + \sum_{n=1}^{\infty} \frac{[2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} |b_{n_i}| \leq 1. \quad (4.4)$$

For $\sum_{i=1}^{\infty} t_i = 1, 0 \leq t_i \leq 1$, the convex combination of f_i may be written as

$$\sum_{i=1}^{\infty} t_i f_i(z) = z - \sum_{n=2}^{\infty} \left(\sum_{i=1}^{\infty} t_i |a_{n_i}| \right) z^n + \sum_{n=1}^{\infty} \left(\sum_{i=1}^{\infty} t_i |b_{n_i}| \right) \bar{z}^n.$$

Then, by using (4.4), we have

$$\begin{aligned} & \sum_{n=2}^{\infty} \frac{[2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} \left(\sum_{i=1}^{\infty} t_i |a_{n_i}| \right) \\ & \quad + \sum_{n=1}^{\infty} \frac{[2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} \left(\sum_{i=1}^{\infty} t_i |b_{n_i}| \right) \\ & = \sum_{i=1}^{\infty} t_i \left[\sum_{n=2}^{\infty} \frac{[2n - \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} |a_{n_i}| + \sum_{n=1}^{\infty} \frac{[2n + \chi(1 - (-1)^n)] |\Gamma_{\alpha, \beta, \delta, \lambda}^k|}{2(1 - \chi)} |b_{n_i}| \right] \\ & \leq \sum_{i=1}^{\infty} t_i = 1, \end{aligned}$$

and this is the necessary and sufficient condition given by (2.4) and so

$$\sum_{i=1}^{\infty} t_i f_i(z) \in \overline{S_{HS}^*}(\alpha, \beta, \delta, \lambda; \chi).$$

This completes the proof of Theorem 6. \square

Acknowledgments

The authors would like to acknowledge and appreciate the financial support received from Universiti Kebangsaan Malaysia under the grant: AP-2013-009 and FRGS/1/2016/STG06 /UKM/01/1.

References

- [1] Clunie, J. and Sheil-Small, T. Harmonic univalent functions. *Ann. Acad. Sci. Fenn. Ser. A.I. Math.* 1984. 9: 3-25.
- [2] Jahangiri, J. M. Harmonic functions starlike in the unit disc. *Jour. Math. Analysis and Appl.* 1999. 235: 470-477.
- [3] Silverman, H. and Silvia, E. M. Subclasses of harmonic univalent functions. *The New Zealand Jour. Math.* 1999. 28: 275-284.
- [4] Silverman, H. Harmonic univalent functions with negative coefficients. *Jour. Math. Analysis and Appl.* 1998. 220: 283-289.
- [5] Jahangiri, J. M. Murugusundaramoorthy, G. and Vijaya, K. Starlikeness of harmonic functions defined by Ruscheweyh derivatives. *Indian Academy of Math.* 2004. 26: 191-200.
- [6] Ahuja, O. P. and Jahangiri, J. M. A subclass of harmonic univalent functions. *Jour. of Natural Geometry.* 2001. 20: 45-56.

- [7] Sakaguchi, K.J. On a certain univalent mapping. *Math. Soc. Japan.* 1959. 11: 72-75.
- [8] Ahuja, O. P. and Jahangiri, J. M. Sakaguchi-type harmonic univalent functions. *Sci. Math. Japonica.* 2004. 59: 163-168.
- [9] Alamoush, A. and Darus, M. New criteria for certain classes containing differential operator. *JQMA.* 2013. 9(2): 59-71.
- [10] Salagean, G. S. Subclasses of univalent functions. *Lecture Notes in Math. Springer Verlag* 1013. 1983. 362-372.
- [11] Ruscheweyh, S. New criteria for univalent function. *Proc. Amer. Math. Soc.* 1975. 49:109–115.